Calculus I for Commerce Studies
Homework #1 (Sections 1.1 & 1.2)

Sestion (] .

(%

37. False. Take a = -2, then Fal=|-(-2)|=2|=2 % q.
38. True.If 5 <0, then 4*> 0, and (b2]=b2.

39. True.Ifa- 4 <0, then la~4=4-a=|4-d| Ifa-4>0, then
{4-—al=a—4=]a—4[.

40. False. Let a = -2, then !a+1]—]—2+1[-[—1[—1¢]—2I+1- 3.

41. False. Take a=3, 5 =-1. Then ]a+b}=[3—1[=2¢}a]+,b[=3+1=4. |

42. False. Take a=3, 5 =-1. Then ]a—b’=4¢la[-]b[=3;(1)=2. :

89. 6/64x8y3 - (64)1/6 .xs/eys/a - 2x4/3y”2.
87. _4/16x4y8 = (16" .x*". 8/4) - __ny

6@6%(‘\3/m .2,

5

32. 38 -+ 3x - 1 =235 - D+16x-1)= 62+ 1)3x- 1),

37. 3x2=-6x-24=3(x2-2x-8)=3(x-4)(x+2).

53. X*+x-12= 0,0r (x +4)(x-3)=0, sothatx=-4o :hat the

roots are x =-4 and x = 3.

v 61. We use the quadratic formula to solve the equation 8x* - 8x - 3 = (. Here a =38,
b=-8 andc=-3. Therefore, :

~b+/b? —4qc _—(- 8)+\/(—8)2 —4(8)(=3) _8++160
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Thus, x=1+14/10 and x = 3=#+10 are the roots of the equatlon
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s 63. We use the quadratic formula to solve 2x?
¢ =-3. Therefore

Lo TbEVb —dac _ ()4 -42)(=3) _—4£+/40
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Thus, x=-1+44/10 and x=-1 —3‘\/16 are the roots of the equation,

+4x-3=O.Here,a=2,b=4,and
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